Problem7.|fﬁ=2€+f+//{\andC_[>=’l\+2]/\+2i€. l>
1. Represent the two vectors in a three dimensional orthonormal coordinate system. ﬁ
2. Find ﬁ + C_[> Then represent it on the same coordinate system. 8)iall
3. Find|pl,|g] and |p + q]|.

4. Find ﬁ y C_[), then find the angle between ﬁ and C_[>

Problem 8.1f p = 4'i-|—]'\—l’€,(_]) = 3i—f+ lzandf') = i—j

1.  Represent the three vectors in a three dimensional orthonormal coordinate system.

2. Find(p —2q) X 7.

3. Findp X (27 X 3q)

Problem 9. For the vectors 4 = —1 +f — kandb = 21 —f + k.

1. Represent the two vectors in a three dimensional orthonormal coordinate system.

ﬁ
9 * *
2. Findd X b.Then represent it on the same coordinate system.
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